

2024 NZB Ready to Run Sale Results – Vendor Pack

Ready to Run Sale Statistics (at end of selling)

	2024 Ready to Run	2023 Ready to Run	2022 Ready to Run	2021 Ready to Run	2020 Ready to Run	2019 Ready to Run
	Sale	Sale	Sale	Sale (virtual)	Sale	Sale
Aggregate	\$38,593,500	\$35,107,000	\$25,186,000	\$20,547,000	\$17,639,500	\$23,585,500
Average	\$151,943	\$156,031	\$129,159	\$121,580	\$95,349	\$91,772
Median	\$90,000	\$90,000	\$80,000	\$80,000	\$60,000	\$60,000
Clearance	78%	73%	76%	66%	77%	74%
Catalogued	404	383	329	322	311	414
Sold	254	225	195	169	185	257
Top Lot	Lot 174 \$1,650,000 I	Lot 376 \$825,000 Star	Lot 258 \$625,000	Lot 107 \$640,000	Lot 298 \$700,000 (B.C)	Lot 375 \$550,000 (Br.C)
	Am Invincible -	Turn - Commonwealth	Capitalist - Sebrina	Savabeel - Etiquette	Savabeel - Miss	Shamus Award -
	Shillelagh (Br.C)	(B.C)	(Ch.C)	(Br.C)	Opulence	Exchanges

Final Ready to Run Sale Statistics (as at 2 December)

	2024	2023	2022	2021	2020	2019	2018
Aggregate	\$39,059,500	\$35,718,000	\$25,870,000	\$21,380,500	\$18,109,500	\$23,994,000	\$24,989,000
Average	\$151,393	\$150,709	\$126,946	\$115,570	\$92,869	\$88,866	\$95,015
Median	\$90,000	\$80,000	\$80,000	\$80,000	\$55,000	\$55,000	\$60,000
Clearance	80%	77%	79%	72%	81%	78%	71%
Catalogued	404	383	329	322	311	414	445
Withdrawn	80	75	72	66	71	66	72
Offered	324	308	257	256	240	348	373
Passed	66	71	53	71	45	78	110
Lots Sold	258	237	204	185	195	270	263
Top Price	\$1,650,000	\$825,000	\$625,000	\$640,000	\$700,000	\$550,000	\$525,000

Spend by Country (as at 2 December)

Country	Aggregate	Aggregate %	Lots Sold	Lots Sold %
Hong Kong	\$17,365,000 (5%)	44%	73 (2)	28%
Australia	\$10,792,500 (29%)	28%	68 <i>(3)</i>	26%
New Zealand	\$6,273,000 (11%)	16%	58 (7)	23%
Malaysia	\$3,244,000 (29%)	8%	43 (17)	16%
China	\$490,000 (52%)	1%	10 (4)	4%
United Kingdom	\$480,000	1%	1	0.4%
Mongolia	\$415,000	1%	5	2%
Total	\$39,059,500		258	

Leading Buyers by Aggregate (as at 30 November)

Purchaser	Aggregate	Bought	Top Price	Top Lot
Mr KM Yeung (Hong Kong)	\$4,995,000.	24	\$450,000.	276
Mr DC Ellis CNZM (BAFNZ) (Te Akau)	\$3,105,000.	9	\$1,650,000.	90
Magus Equine (Hong Kong)	\$1,865,000.	5	\$550,000.	122
Lindsay Park Racing (Victoria)	\$945,000.	4	\$280,000.	232
Patella Bloodstock (Hong Kong)	\$885,000.	2	\$775,000.	288
YLP (Victoria)	\$885,000.	2	\$675,000.	32
Annabel Neasham & Rob Archibald Racing / Blandford Bloodstock				
(New South Wales)	\$870,000.	3	\$450,000.	83
Mr R Yiu (Hong Kong)	\$870,000.	3	\$400,000.	186

Morgan Carter Bloodstock Ltd (Hong Kong)	\$795,000.	3	\$520,000.	372
Mick Price Racing and Breeding (Victoria)	\$695,000.	3	\$275,000.	53

Vendors by Aggregate (as at 30 November)

Vendor	Aggregate	Average	Offered	Sold	Top Price	Top Lot
Riversley Park Ltd	\$6,945,000.	\$198,429	43	35	\$650,000	79
Ohukia Lodge	\$4,670,000.	\$222,381	26	21	\$550,000	190
KB Bloodstock	\$3,610,000.	\$212,353	18	17	\$675,000	32
Kilgravin Lodge	\$3,410,000.	\$148,261	33	23	\$400,000	369
Kiltannon Stables Ltd	\$2,325,000.	\$290,625	10	8	\$1,650,000	174
BMD Bloodstock	\$2,120,000.	\$212,000	15	10	\$625,000	283
Riverrock Farm	\$2,020,000.	\$252,500	9	8	\$775,000	288
Woburn Farm	\$1,800,000.	\$138,462	14	13	\$250,000	80
Prima Park	\$1,760,000.	\$135,385	13	13	\$370,000	333
Westbury Stud	\$1,741,000.	\$48,361	47	36	\$330,000	13
Phoenix Park	\$1,360,000.	\$151,111	11	9	\$425,000	145
Pertab Racing	\$1,240,000.	\$95,385	19	13	\$320,000	403
Regal Farm	\$1,170,000.	\$146,250	13	8	\$320,000	187
Lilywhites Lodge	\$1,091,000.	\$109,100	10	10	\$260,000	66
Lyndhurst Farm	\$1,052,500.	\$210,500	6	5	\$550,000	122
Leanach Lodge Ltd	\$910,000.	\$303,333	5	3	\$375,000	34
Waikato Stud Ltd	\$710,000.	\$142,000	5	5	\$340,000	330
Curraghmore	\$290,000.	\$145,000	3	2	\$210,000	202
Mapperley Stud Ltd	\$270,000.	\$54,000	6	5	\$70,000	164
Trelawney Stud Ltd	\$200,000.	\$100,000	2	2	\$100,000	281
Apex Bloodstock	\$125,000.	\$25,000	5	5	\$60,000	106
Kilmore Farm Ltd	\$90,000.	\$90,000	3	1	\$90,000	84
Platinum Bloodstock	\$70,000.	\$35,000	2	2	\$40,000	238
Ainsley Downs Stud	\$60,000.	\$60,000	1	1	\$60,000	193
Awanui Stables	\$10,000.	\$5,000	3	2	\$5,000	165

Leading Vendors by Average (as at 30 November)

Vendor	Average	Aggregate	Offered	Sold	Top Price	Top Lot
Leanach Lodge Ltd	\$303,333	\$910,000.	5	3	\$375,000	34
Kiltannon Stables Ltd	\$290,625	\$2,325,000.	10	8	\$1,650,000	174
Riverrock Farm	\$252,500	\$2,020,000.	9	8	\$775,000	288
Ohukia Lodge	\$222,381	\$4,670,000.	26	21	\$550,000	190
KB Bloodstock	\$212,353	\$3,610,000.	18	17	\$675,000	32
BMD Bloodstock	\$212,000	\$2,120,000.	15	10	\$625,000	283
Lyndhurst Farm	\$210,500	\$1,052,500.	6	5	\$550,000	122
Riversley Park Ltd	\$198,429	\$6,945,000	43	35	\$650,000	79
Phoenix Park	\$151,111	\$1,360,000	11	9	\$425,000	145
Kilgravin Lodge	\$148,261	\$3,410,000	33	23	\$400,000	369

Sires by Average (as at 30 November)

Sire	Offered	Sold	Average	Aggregate	Top Price	Top Lot
I Am Invincible	4	4	\$675,000	\$2,700,000.	\$1,650,000	174
Churchill	3	2	\$575,000	\$1,150,000.	\$775,000	288
Ole Kirk	1	1	\$550,000	\$550,000.	\$550,000	122
Deep Field	5	2	\$487,500	\$975,000.	\$550,000	190
Snitzel	2	1	\$480,000	\$480,000.	\$480,000	394
Harry Angel	2	2	\$460,000	\$920,000.	\$520,000	372
Encryption	1	1	\$450,000	\$450,000.	\$450,000	276
Xtravagant	1	1	\$450,000	\$450,000.	\$450,000	83
Castelvecchio	1	1	\$400,000	\$400,000.	\$400,000	369
Calyx	1	1	\$375,000	\$375,000.	\$375,000	315
Exceed and Excel	1	1	\$370,000	\$370,000.	\$370,000	333
Zoustar	1	1	\$360,000	\$360,000.	\$360,000	304
Zousain	1	1	\$350,000	\$350,000.	\$350,000	123
Alabama Express	2	1	\$300,000	\$300,000.	\$300,000	309

Ghaiyyath	2	2	\$292,500	\$585,000.	\$425,000	145
Written Tycoon	2	2	\$290,000	\$580,000.	\$320,000	187
Toronado	6	6	\$287,500	\$1,725,000.	\$625,000	283
All Too Hard	6	4	\$280,000	\$1,120,000.	\$350,000	375
Admire Mars	1	1	\$260,000	\$260,000.	\$260,000	55
Proisir	8	7	\$236,429	\$1,655,000.	\$650,000	79
Hellbent	7	5	\$236,000	\$1,180,000.	\$400,000	385
Shocking	2	2	\$230,000	\$460,000.	\$320,000	403
So You Think	3	2	\$230,000	\$460,000.	\$380,000	48
Russian Revolution	3	3	\$226,667	\$680,000.	\$400,000	271
Farnan	2	2	\$225,000	\$450,000.	\$300,000	120
Nicconi	1	1	\$225,000	\$225,000.	\$225,000	236
Written By	3	3	\$213,333	\$640,000.	\$260,000	225
Shamexpress	3	3	\$203,333	\$610,000.	\$280,000	232
Lonhro	1	1	\$200,000	\$200,000.	\$200,000	268
Maurice	1	1	\$200,000	\$200,000.	\$200,000	5
Derryn	4	3	\$191,667	\$575,000.	\$420,000	402
Pariah	1	1	\$185,000	\$185,000.	\$185,000	248
Tagaloa	2	2	\$185,000	\$370,000.	\$350,000	77
Super Seth	8	6	\$181,667	\$1,090,000.	\$420,000	226
Wootton Bassett	7	5	\$178,000	\$890,000.	\$280,000	94
Star Turn	9	9	\$177,222	\$1,595,000.	\$400,000	186
Per Incanto	10	6	\$168,333	\$1,010,000.	\$270,000	270
Headwater	2	1	\$160,000	\$160,000.	\$160,000	284
Too Darn Hot	2	1	\$160,000	\$160,000.	\$160,000	129
War Decree	2	2	\$150,000	\$300,000.	\$220,000	109
Savabeel	10	8	\$144,375	\$1,155,000.	\$330,000	13
Capitalist	8	6	\$140,417	\$842,500.	\$320,000	341
Bivouac	3	3	\$138,333	\$415,000.	\$260,000	45
King's Legacy	3	2	\$127,500	\$255,000.	\$190,000	87
Almanzor	14	13	\$118,846	\$1,545,000.	\$320,000	76
Ardrossan	5	5	\$116,000	\$580,000.	\$250,000	24

2024 Ready to Run Sale Results

Hello Youmzain	6	5	\$110,000	\$550,000.	\$150,000	255
Ocean Park	3	3	\$101,667	\$305,000.	\$210,000	202
Anders	2	2	\$100,000	\$200,000.	\$120,000	245
Contributer	9	7	\$90,714	\$635,000.	\$180,000	233
Banquo	1	1	\$90,000	\$90,000.	\$90,000	75
Pierro	1	1	\$90,000	\$90,000.	\$90,000	131
Yulong Prince	1	1	\$90,000	\$90,000.	\$90,000	84
U S Navy Flag	7	4	\$85,000	\$340,000.	\$150,000	332
Belardo	2	1	\$80,000	\$80,000.	\$80,000	251
Lucky Vega	1	1	\$80,000	\$80,000.	\$80,000	93
Russian Camelot	1	1	\$80,000	\$80,000.	\$80,000	295
Earthlight	2	1	\$75,000	\$75,000.	\$75,000	98
Embellish	5	4	\$75,000	\$300,000.	\$180,000	299
Redwood	10	7	\$73,571	\$515,000.	\$160,000	148
Circus Maximus	6	5	\$72,000	\$360,000.	\$150,000	344
Swiss Ace	5	5	\$70,600	\$353,000.	\$175,000	10
Better Than Ready	1	1	\$70,000	\$70,000.	\$70,000	384
Darci Brahma	3	3	\$63,333	\$190,000.	\$90,000	110
Ribchester	2	2	\$62,500	\$125,000.	\$75,000	78
Dirty Work	1	1	\$60,000	\$60,000.	\$60,000	193
Fierce Impact	1	1	\$60,000	\$60,000.	\$60,000	50
Frosted	1	1	\$60,000	\$60,000.	\$60,000	72
Street Boss	1	1	\$60,000	\$60,000.	\$60,000	294
Sweynesse	4	3	\$58,333	\$175,000.	\$70,000	352
Peltzer	1	1	\$55,000	\$55,000.	\$55,000	7
Tarzino	4	3	\$55,000	\$165,000.	\$105,000	82
Time Test	4	4	\$53,375	\$213,500.	\$100,000	54
Ace High	3	2	\$50,000	\$100,000.	\$85,000	326
Showtime	1	1	\$50,000	\$50,000.	\$50,000	249
El Roca	9	9	\$47,000	\$423,000.	\$160,000	201
Hanseatic	3	3	\$41,667	\$125,000.	\$60,000	289
Cosmic Force	1	1	\$40,000	\$40,000.	\$40,000	336

2024 Ready to Run Sale Results

Shamus Award	1	1	\$40,000	\$40,000.	\$40,000	325
Zed	1	1	\$40,000	\$40,000.	\$40,000	81
Ancient Spirit	1	1	\$38,000	\$38,000.	\$38,000	377
Heroic Valour	2	2	\$35,000	\$70,000.	\$40,000	328
King of Comedy	2	2	\$35,000	\$70,000.	\$60,000	89
Reliable Man	8	5	\$35,000	\$175,000.	\$65,000	257
Savile Row	1	1	\$35,000	\$35,000.	\$35,000	273
Dubious	2	2	\$32,500	\$65,000.	\$35,000	241
Ferrando	3	2	\$32,500	\$65,000.	\$60,000	106
Turn Me Loose	4	2	\$30,000	\$60,000.	\$35,000	313
Vadamos	2	2	\$30,000	\$60,000.	\$45,000	269
Strasbourg	1	1	\$27,500	\$27,500.	\$27,500	215
What's the Story	1	1	\$25,000	\$25,000.	\$25,000	354
Telperion	13	11	\$19,545	\$215,000.	\$45,000	258

Leading Sires by Average (three or more sold) (as at 2 December)

	Lots	Lots				Тор
Sire	Offered	Sold	Average	Aggregate	Top Price	Lot
I Am Invincible	4	4	\$675,000	\$2,700,000.	\$1,650,000	174
Toronado	6	6	\$287,500	\$1,725,000.	\$625,000.	283
All Too Hard	6	4	\$280,000	\$1,120,000.	\$350,000.	375
Proisir	8	7	\$236,429	\$1,655,000.	\$650,000.	79
Hellbent	7	5	\$236,000	\$1,180,000.	\$400,000.	385
Russian						
Revolution	3	3	\$226,667	\$680,000.	\$400,000.	271
Written By	3	3	\$213,333	\$640,000.	\$260,000.	225
Shamexpress	3	3	\$203,333	\$610,000.	\$280,000.	232
Derryn	4	3	\$191,667	\$575,000.	\$420,000.	402
Super Seth	8	6	\$181,667	\$1,090,000.	\$420,000.	226
Wootton						
Bassett	7	5	\$178,000	\$890,000.	\$280,000.	94

Star Turn	9	9	\$177,222	\$1,595,000.	\$400,000.	186
Per Incanto	10	6	\$168,333	\$1,010,000.	\$270,000.	270
Savabeel	10	8	\$144,375	\$1,155,000.	\$330,000.	13
Capitalist	8	6	\$140,417	\$842,500.	\$320,000.	341
Bivouac	3	3	\$138,333	\$415,000.	\$260,000.	45
Almanzor	14	13	\$118,846	\$1,545,000.	\$320,000.	76
Ardrossan	5	5	\$116,000	\$580,000.	\$250,000.	24
Hello Youmzain	6	5	\$110,000	\$550,000.	\$150,000.	255
Ocean Park	3	3	\$101,667	\$305,000.	\$210,000.	202

Percentile Analysis (as at 26 November)

Percentile	Range	Avg	Sum	Median
Top 10 %	1 - 25	\$517,000	\$12,925,000	\$425,000
11% - 20%	26-51	\$295,577	\$7,685,000	\$280,000
21% - 30%	52 – 77	\$218,846	\$5,690,000	\$220,000
31% - 40%	78 – 102	\$156,000	\$3,900,000	\$150,000
41% - 50%	103 – 128	\$106,731	\$2,775,000	\$100,000
51% - 60%	129 - 154	\$80,769	\$2,100,000	\$80,000
61% - 70%	155 – 179	\$64,000	\$1,600,000	\$60,000
71% - 80%	180 – 205	\$45,673	\$1,187,500	\$45,000
81% - 90%	206 – 231	\$30,577	\$795,000	\$30,000
91 - 100%	232 – 257	\$15,077	\$392,000	\$15,000